
12
35

21
00

SR871 - 
SOCKETED POST 

TYPE 'A'

SR870 - 
DRIVEN POST 

TYPE 'A'

SR875 - POST 
SOCKET

12
35

21
00

SR873 - 
SOCKETED POST 

TYPE 'B'

SR872 - 
DRIVEN POST 

TYPE 'B'

16
0

45

16
0

45

SURFACE 
MOUNTED POST 

TYPE 'A'

TB
D

36
0

220

26
5

150

47
7

16
6

IN
T

51
INT

4316

31
0

SR700 - STANDARD FRONT BEAM (VIK)

4316

20
0

SR802 - BACKING BEAM

3658

17
3

SR853 - APPROACH TAPERED BACKING BEAM

3658

20
0

SR854 - DEPARTURE TAPERED BACKING BEAM

2816

31
0

SR851 - FRONT BEAM

735

31
0

SR865 - FRONT BEAM FOR USE 
IN CONJUNCTION WITH SR862

1760

20
0

SR862 - APPROACH BACKING BEAM FOR 
CONNECTION TO STEEL PARAPET

2475

20
0

SR860 - BACKING BEAM FOR CONNECTION TO 
ALUMINIUM PARAPET

1690

31
0

SR864 - FRONT BEAM FOR USE IN 
CONJUNCTION WITH SR860

2316

20
0

SR852 - BACKING BEAM

4316

31
0

SR850 - FRONT BEAM (c/w TRANSITION HOLES)

750

38
4

SR116 - NEOPRENE GASKET

SR881 - CABLE 
CONNECTION BRACKET

SR882 - POST CABLE 
CONNECTION BRACKET

SR880 - 
SUPPORT CABLE

19
30

 E
FF

EC
TI

VE
 W

O
R

KI
N

G
 L

EN
G

TH

PLATE DIMENSION
700 MAX

OFFSET POST PLATE
(CAN ALSO BE HANDED)

40
0

SURFACE
MOUNTED POST

115

40

SR890 - WASHER PLATE (8mm)

100

25

SR891 - WASHER PLATE (4mm)

Ø18

Ø12

115

40

SR840 - WASHER PLATE (5mm)

Ø18

30

30

Ø12

SR892 - WASHER PLATE (3mm)

2.0 21.05.13 DETAILS REVISED M.T

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

COMPONENTS SCHEMATIC

MF-GA-00 09

03 30.01.17 DETAILS UPDATED, REVISED M.T

04 10.03.17 DETAILS ADDED, REVISED M.T

05 18.06.20 SURFACE MOUNTED POST ADDED M.T

06 27.05.21 OFFSET POST PLATE ADDED M.T

A.DSURFACE MOUNTED POST 
CHANGED04.07.2207

H.BSR851 BEAM DETAIL UPDATE04.07.2208

A.DDIMENSIONS ADDED TO POST 
SOCKET - SR87515.05.2309



CONNECTION INTO
MegaGuard or PARAPET

6 POSTS AT 1000 CTRS

TRAFFIC FLOW

4 POSTS AT 2000 CTRS *2025 - FROM MEGAGUARD
**2000 - FROM PARAPET

EXTENT OF
BACKING BEAM

N2W3, W4 or
W5 SYSTEM

TAPERED BACKING BEAM FOR BEAM CONFIGURATION REFER TO SPECIFIC
CONNECTION DRAWINGS

SR892 GF094

SR840

GF216

SR891

78
5

±
50

m
m

GF080

GF163

GF174

SR891

GF094

SR892

78
5

±
50

m
m

GF080
SR840

GF216

SR890

GF174

02 21.05.13 DETAILS REVISED M.T

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

LEFT HAND TRANSITION
GENERAL ARRANGEMENT

MF-GA-01 08

03 30.01.17 DETAILS UPDATED, REVISED M.T

SYSTEM COMPONENT SCHEDULE - QUANTITIES / INSTALLATION

SAFEROAD 
UK PART 
NUMBER

DESCRIPTION
ALUMINIUM 
PARAPET

STEEL 
PARAPET

 
MEGAGUARD

SR871/870 STANDARD POST TYPE 'A' 9 9 9

SR873/872 STANDARD POST TYPE 'B' 1 1 1

SR853 APPROACH TAPERED BACKING BEAM 1 1 1

SR802 BACKING BEAM (4316) - - 1

SR852 BACKING BEAM (2316) 1 1 -

SR860
ALUMINIUM PARAPET CONNECTION 
BACKING BEAM

1 - -

SR862 STEEL PARAPET CONNECTION 
BACKING BEAM

- 1 -

SR700
FRONT BEAM (4316) STANDARD 
(VIK) - - 1.5

SR850 FRONT BEAM (4316) c/w 
TRANSITION HOLES

2 2 2

SR851 FRONT BEAM (2816) 2 2 -

SR864 FRONT BEAM FOR USE WITH SR860 1 - -

SR865 FRONT BEAM FOR USE WITH SR862 - 1 -

SR890 115x40x8mm WASHER PLATE 2 2 2

SR891 100x25x4mm WASHER PLATE 10 10 10

SR840 115x40x5mm WASHER PLATE 9 9 8

SR892 30x30x3mm WASHER PLATE 10 10 10

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING                                       
NUMBERS TRANS-GA-101, 102 AND 103

1 2 5 9

GF216

GF216

GF214

CABLE CONNECTION 
BRACKET AT POST 1

CABLE CONNECTION 
BRACKET AT POST 2

GF214GF214

GF094

A

A

B

B

C

C

SECTION AA SECTION BB SECTION CC

* IF CONNECTING FROM MEGAGUARD THE FIRST BAY (FROM 
MEGAGUARD) IS TO BE 975 & FIRST LARGER BAY TO BE 2025.

** IF CONNECTING FROM STEEL PARAPET, THE FIRST BAY 
(FROM CENTRE OF PARAPET POST) IS TO BE 1050 FOLLOWED 
BY 5 POSTS AT 1000 CTRS & THEN 4 POSTS AT 2000 CTRS.
IF CONNECTING FROM ALUMINIUM PARAPET, THE FIRST
6 BAYS (FROM CENTRE OF PARAPET POST) ARE TO BE 1000 
POST CTRS FOLLOWED BY 4 POSTS AT 2000 CTRS.

04 17.10.18 WASHER DETAILS ADDED M.T

05 02.12.19 FIXING REFS REVISED M.T

06 12.01.22 NOTE CHANGED & POST 
HEIGHT ADDED A.D

A.DSECTIONS A-A, B-B & C-C 
ALTERED27.06.2207

08 06.10.22 SYSTEM COMPONENT 
SCHEDULE REVISED A.D



CONNECTION INTO
MegaGuard or PARAPET

6 POSTS AT 1000 CTRS

TRAFFIC FLOW

4 POSTS AT 2000 CTRS*1975 - FROM MEGAGUARD
**2000 - FROM STEEL PARAPET
**2000 - FROM ALU PARAPET

EXTENT OF
BACKING BEAM

N2W3, W4 or
W5 SYSTEM

TAPERED BACKING BEAMFOR BEAM CONFIGURATION REFER TO SPECIFIC
CONNECTION DRAWINGS

SR892 GF094

SR840

GF216

SR891

78
5

±
50

m
m

GF080

GF163

GF174

SR891

GF094

SR892

78
5

±
50

m
m

GF080SR840

GF216

SR890

GF174

02 21.05.13 DETAILS REVISED M.T

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

RIGHT HAND TRANSITION
GENERAL ARRANGEMENT

MF-GA-02 11

03 30.01.17 DETAILS UPDATED, REVISED M.T

SYSTEM COMPONENT SCHEDULE - QUANTITIES / INSTALLATION

SAFEROAD 
UK PART 
NUMBER

DESCRIPTION
ALUMINIUM 
PARAPET

STEEL 
PARAPET

MEGAGUARD

SR871/870 STANDARD POST TYPE 'A' 9 9 9

SR873/872 STANDARD POST TYPE 'B' 1 1 1

SR854 DEPARTURE TAPERED BACKING 
BEAM

1 1 1

SR802 BACKING BEAM (4316) - - 1

SR852 BACKING BEAM (2316) 1 1 -

SR861 ALUMINIUM PARAPET CONNECTION 
BACKING BEAM

1 - -

SR863
STEEL PARAPET CONNECTION 
BACKING BEAM

- 1 -

SR700
FRONT BEAM (4316) STANDARD 
(VIK) - - 1.5

SR850 FRONT BEAM (4316) c/w 
TRANSITION HOLES

2 2 2

SR851 FRONT BEAM (2816) 2 2 -

SR864 FRONT BEAM FOR USE WITH BF005 1 - -

SR865 FRONT BEAM FOR USE WITH BF015 - 1 -

SR890 115x40x8mm WASHER PLATE 2 2 2

SR891 100x25x4mm WASHER PLATE 10 10 10

SR840 115x40x5mm WASHER PLATE 9 9 8

SR892 30x30x3mm WASHER PLATE 10 10 10

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING                                       
NUMBERS MF-GA-101, 102 AND 103

1 2 5 9

CABLE CONNECTION 
BRACKET AT POST 9

CABLE CONNECTION 
BRACKET AT POST 10

GF214GF214

GF094

GF216

GF216

A

A

B

B

C

C

SECTION AA SECTION BB SECTION CC

GF214

* IF CONNECTING FROM MEGAGUARD THE FIRST BAY (FROM 
MEGAGUARD) IS TO BE 1025 & FIRST LARGER BAY TO BE 1975.

** IF CONNECTING FROM STEEL PARAPET, THE FIRST 2 BAYS
(FROM CENTRE OF PARAPET POST) ARE TO BE 1050 FOLLOWED
BY 4 POSTS AT 1000 CTRS THEN 4 POSTS AT 2000 CTRS.
IF CONNECTING FROM ALUMINIUM PARAPET, THE FIRST 6 BAYS 
(FROM CENTRE OF PARAPT POST) ARE TO BE 1000 POST CTRS 
FOLLOWED BY 4 POSTS AT 2000 CTRS.

04 14.04.17 POST SPACING NOTES REVISED M.T

05 17.10.18 WASHER DETAILS ADDED M.T

06 03.12.19 FIXING REFS REVISED M.T

07 12.01.22
NOTE CHANGED & POST 

HEIGHT ADDED A.D

A.DNOTE REVISED19.01.2208

A.DSECTIONS A-A, B-B & C-C 
ALTERED27.06.2209

A.DSYSTEM COMPONENT 
SCHEDULE REVISED

06.10.2210

A.DSYSTEM COMPONENT 
SCHEDULE REVISED

13.01.2311



SR891 SR891
SR891 SR840

SR840 SR840 SR840 SR840
SR840

SR890

SR891

SR882

TYPE 'B' POST

SR880

SR881

SR850 SR850

SR700

SR700

SR853

SR802

SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892

GF094 GF094
GF094 GF094 GF094 GF094

80

2025 Left Hand (as shown)
1975 Right Hand

975 Left HAND

1025 RIGH HAND

LAST MEGAGUARD
POST

SR891 SR891
SR891 SR891 SR891 SR891

02 21.05.13 DETAILS REVISED M.T

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

CONNECTION TO MEGAGUARD
GENERAL ARRANGEMENT

MF-GA-101 07

03 30.01.17 DETAILS UPDATED, REVISED M.T

GF214GF214

GF214GF214

FRONT BEAM LAPPING ARRANGEMENT BACKING BEAM LAPPING ARRANGEMENT

NOTE: BACKING BEAMS MUST BE HUNG IN 
THE CORRECT ORIENTATION SO 
THAT ALL ARROWS POINT IN THE 
DIRECTION OF TRAFFIC FLOW.

SCHEDULE OF FASTENERS

REF. SIZE TYPE
LENGTH 
(mm) GRADE NUT WASHERS AND 

FORM
TORQUE 

(Nm) FINISH

GF214 M16 SETSCREW 35 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF216 M16 SETSCREW 65 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF094 M10 SETSCREW 50 8.8 10-17 SPUN GALVANISED

GF094GF094 GF094
GF094

GF216 GF216 GF216 GF216 GF216
GF216

GF216

04 03.12.19 FIXING REFS REVISED M.T

A.DTORQUE ON FIXINGS 
ALTERED

12.10.2105

GF080 SR892 SQUARE

A.D
SCHEDULE OF FASTENERS
CHANGED27.06.2206

SR840

GF094

SR891

SR892

A.D
FIXINGS ADDED AND 
LABELLED06.10.2207



SR891 SR891
SR891 SR840 SR840

SR840

SR840

SR840

SR890

SR891

SR840

SR840

SR840

SR882

SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892

SR853

SR852

SR880

SR881

GF094 GF094
GF094 GF094 GF094

GF094

80

SR116

NEOPRENE GASKET

SR891 SR891
SR891 SR891 SR891

SR891

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

CONNECTION TO ALUMINIUM 
PARAPET
GENERAL ARRANGEMENT

MF-GA-102 11

03 30.01.17 DETAILS UPDATED, REVISED M.T

GF094GF094 GF094
GF094 GF216

GF216
GF216

GF214GF214

GF214

FRONT BEAM LAPPING ARRANGEMENT BACKING BEAM LAPPING ARRANGEMENT

NOTE: BACKING BEAMS MUST BE HUNG IN 
THE CORRECT ORIENTATION SO 
THAT ALL ARROWS POINT IN THE 
DIRECTION OF TRAFFIC FLOW.

GF216

GF216

GF216

GF216

GF216

SCHEDULE OF FASTENERS

REF. SIZE TYPE
LENGTH 
(mm) GRADE NUT WASHERS AND 

FORM
TORQUE 

(Nm) FINISH

GF214 M16 SETSCREW 35 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF216 M16 SETSCREW 65 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF094 M10 SETSCREW 50 8.8 10-17 SPUN GALVANISED

GF214

04 10.03.17 DETAILS ADDED, REVISED M.T

05 28.03.17 DETAILS REVISED M.T

06 21.11.19 BEAM CODE CORRECTED M.T

07 03.12.19 FIXING REFS REVISED M.T

A.DTORQUE ON FIXINGS ALTERED12.10.2108

GF080 SR892 SQUARE

A.D27.06.2209 SCHEDULE OF FASTENERS
CHANGED

04.07.2210 SR851 BEAM DETAIL UPDATE H.B

GF094

SR891

SR892

06.10.2211 A.DFIXINGS ADDED AND LABELLED



SR891 SR891
SR891 SR840 SR840

SR840

SR840

SR840

SR890

SR891

SR840

SR840

SR840

SR882

SR892

SR853

SR852

SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892 SR892

SR880

SR881

GF094 GF094 GF094
GF094 GF094 GF094

80

SR891 SR891 SR891
SR891 SR891 SR891

02 21.05.13 DETAILS REVISED M.T

REVn DATE DETAILS INITIAL

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

MegaFlex
Transition

DRAWING NUMBER: REVn:

CONNECTION TO STEEL PARAPET
GENERAL ARRANGEMENT

MF-GA-103 08

03 30.01.17 DETAILS UPDATED, REVISED M.T

GF214GF214

GF214GF214

FRONT BEAM LAPPING ARRANGEMENT BACKING BEAM LAPPING ARRANGEMENT

NOTE: BACKING BEAMS MUST BE HUNG IN 
THE CORRECT ORIENTATION SO 
THAT ALL ARROWS POINT IN THE 
DIRECTION OF TRAFFIC FLOW.

GF094GF094 GF094
GF094 GF216

GF216
GF216

GF216

GF216

GF216

GF216

GF216

SCHEDULE OF FASTENERS

REF. SIZE TYPE
LENGTH 
(mm) GRADE NUT WASHERS AND 

FORM
TORQUE 

(Nm) FINISH

GF214 M16 SETSCREW 35 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF216 M16 SETSCREW 65 8.8 GF174 GF163 FORM 'C' 70-140 SPUN GALVANISED

GF094 M10 SETSCREW 50 8.8 10-17 SPUN GALVANISED

04 03.12.19 FIXING REFS REVISED M.T

A.DTORQUE ON FIXINGS ALTERED12.10.2105

GF080 SR892 SQUARE

06 27.06.22 A.DSCHEDULE OF FASTENERS
CHANGED

04.07.2207 SR851 BEAM DETAIL UPDATE H.B

GF094

SR891

SR892

A.DFIXINGS ADDED AND LABELLED06.10.2208


